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" Baud Rate: It is assumed that the receiver knows how fast each bit is being”
transmitted. This transmission rate is known as the baud rate. The term

* Baud| is spelled only in the asynchronous communication.

UART Mode is as Follows:

 Non return to zero (NRZ) state denotes logic state is 1 at serial line.

e Start of serial bits is signaled by 1 to O transitions on the line for a period
equal to reciprocal of baud rate.

* Transmission of a byte consists of one start bit, eight data bits, one parity
bit and one stop bit
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Fig. DB9 RS232-C
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Fig. Transmission of bits
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UART =

LB 7T 10175

Stop bit is denoted by the logic one.
1 bit time = 0T
Therefore 10 bit time = 106T

Programmable bit (P.bit) is used for parity detection (or) to specify the
purpose of serial data bits.

For transmission and reception, UART 16550 has a 16 byte FIFO buffer
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